BLFHAFEERE
LPHREEE = BEfRERs + ((BHERAEERE =1) = FEEEEEED < e )
Ok 1y HROITHEAR | i D ofls (1225 98 X0 @A)

s i ™

L PHRELEIIRAE
[ JEHEA G ]
+

[ BUFH ' 3 B ]

- J

[20254-1 A Bty ek E i de 4 ]

L P# 2¥EE —

B PYAREE
& 117 - 12H oG AffiFE

2024411 H 88, 7T00M] /t

20244124 92, 300M /t

XL E U H A fHiA% (3202345 7 o0 JRUBHE A fid% 72, 500H]/ t LWz L TRV £

& B R
{ (88,700 /t+92,300//t) +2 —72,500//t } + 1,000 + {AREHELREL (0.482) X
HEBLR (1.10) =41.07H/m UNESEESALLL Y0 #C)

20254F 1 frit o3 JRURH e i 4 41.07H /ot

[(2%]

2024412 7 Kbty JRURK B A B 27. 84H)/m




